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100

Secﬁon A (38 x 2 marks ) .

Count and write the correct:number in the box.

1.

.
dpcg
¥
%
%

Write the -nulmbers.-in words.

2. 58

3. 34
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Do these siims.

4. 2 3 5. 1 0

| + 75 .+ 16

i [

6. 8 7 7

- 3 8 — 2 4
_

8. Count and write the correct amount of money.

The amount is -

-

9. Colour 5 coins to make 75¢.

10.

Parma ™ mit dd
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‘11, Draw apples to show 4 groups of 3.

f—

12 5+10+5= .

. -~

Write the correct time using ‘o’clock’

or ‘half past’ only.

13.
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16.

The above picture shows . - groups of

17... Ring the bees-into groups of 3 -

P BB R OB OB

B R bk B B

There are groups of 3.

Look at the pictures and answer question 18.

box marbles

marb‘ies

L e
-

18. The mass of the box and the tinis - marbles.
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19,

Each [_stands for 1 unit.
- The mass of the banana is V units.

20. Arrange these numbers in order. Begin with the smaljest.
!65’123,132I SGJ

smdllest

21. Colour the answer that is equal to 20 + 25

i twenty ’ F fifty-four

Do these sums.

twenty-ﬁve‘l

22. __ Comes just before 80

23. 69 comes between 68 and

24. | - 25.
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26. Colour the smallest triangle. .

A
1

Look at'the picture andanswer question:27-

AN B
S0P

O

27. There are .. fewér triangles than circles.

28. -Circle to show;fh'o.w_::&:.boysﬁ.are;:going-;bto;ﬁ.share::the apples:equally.

| Ef) DA AD Cf‘(f) AHA A
BOEBASS G S,

Each boy will get _ apples. |
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29. Put16 @ equally into the boXes below.

30.

‘The toy car cost $

31. Draw a line from the 6™ rabbit to the carrot.
ﬁﬁﬁ@é@@@ﬁ
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~ Look at the graph and answer questions 32, 33 and 34.
This graph shows the number of marbles five children have,

@
O
®
®
®
®

@

)
D
)
o)
@

®
®
® @

5
D
®
0,
@
®

SACESES

Peiwen

Mark

Ahmad. Muthu - Shanti

32 Muthu has

Each @ stands for 1 marble.

. marbles.

33,

and

34. Ahmad has
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Do these sums,

35. 2'

5 36, -8 F5
+ 4 8 - 19

37." Study the pattern.

9 3 : '8

29

The missing number in the boxis .

Look at Set A and Set B and answer question 38,

1 Set A

Set B

AVAVAVAVAVARNEEN BN AVAVAVE

| | UUUUUUUU
UUUUUUUU,UUDUUUU@

38. I have to take — Cups from Set B and put into set A so that

the two sets have the Same number of cups.
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SectionB( 6 x 4 marks

Work out the problem sums. All working, statements and answers must
be ciearly shown,

39. Bala has 38 stamps, | | [
John has 42 stamps, ~ .
How'man.y-gszt;amps*-.do:-'-th‘e;ﬁb.oysz;haye':a_lto:gether-?" T

40. - Mrs Lui baked 53 cookies.
She gave away 29 of them to her friend.
How many cookies had she left?
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41.  Joyce has $27. .
Jili has $10 less than Joyce.,
How much money does Jill hage?
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42. Rama spent $40 on a pen, a bell and a shirt.

He paid $7 for the pen and $18 for the bell.
How much did he pay for the shirt?
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43,

There are 14 men anc, 13 women on a bus.

At a bus stop, 9 women get on the bus. '
How many fewer men than women are there on the bus now? .
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44.  Afishing rod is 31 units long.
A stick is 12 units shorter.

What is the total length of the fishing rod and the stick?

End of Paper

Set by: Mfs J Leong.
Veited by: P1 Maths Committee Teachers -
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Answer Sheets
Pei Chun Pri 1 SA2 /2006 Mathematics

1. 39 2. Fifty-eight

3. Thirty-four 4. 23+ 73 =198
5. 10 + 16 = 26 ' 6. 98 - 38 =60
7. 67 —24 = 43 8. 0.20¢ +0.10¢ + 0.05¢ + 0.20¢ =
0.55¢

9. 10. 2x3=¢
11. 12. 5+10+5 =5x4

DDA A3AS

S A S DA

]
13. 14. .
half past six half past four

15. 16. 2 groups of four

six o’clock
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19.

21.

23.

2s.

27.

29.

18. 3+ 7 =10 marbles

12 +3 =4

There are 4 groups of 3
S — 3= 2 units 20. 23, 32, 56, 65

The mass of the bananas is 2 units

22. 79 comes just before 80,

24,
so
O

Triangles = 4 Circles = 6
6 -4 =2 few triangles

Each boy will get 4 apples

oot a
L® @ @ @ The toy car cost $7.00

OOOO
QOO0
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31

3.

35.

37.

39.

40.

41.

42,

43.

44.

@ @ @ @ % @ ®  32. Muthu bas 4 marbles
Peiwan and Shanti 34. Ahmad =3 Mark =5
Ahmad 5 - 3 = 2 few marbles
36. 35 - 19 = is
38. SetA=13 SetB=19
19 -13=¢
6+2=3
_ 3 cups from Set B
The missing number = 24
38 + 42 = 80

They have 80 stamps altogether.

53 -29 =24
She left 29 cookies

$27 - $10 = $17
Jill has $17.00

$18 + $7 = $25

$40 — $25 = $15
He paid $15 for the shirt.

13+9 = 22 women

22 - 14 =8 »

There are 8 fewer men than women on the bus Low,
31 — 12 = 19 units

31 + 19 = 50 units
The total length of the fishing rod and the stick is 50 units
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